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All questions are compulsory.

Questions number 1- 10 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

Questions number 11- 20 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

Questions number 21— 30 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

Questions number 31— 35 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

Question number 30 is a map-based question. Write its answers in your
answer-book.

T8T (SAARC) & J&I 3t T Ioai@ I |
Mention the main objective of SAARC.

‘g TorHifa @ e Iy B 2

What is meant by ‘bandwagon’ strategy ?

e <ht g fafau |

Define Security.

TR TP GR&TT UG o foh HeEal sl fidt o1 SAfsr 8 2

Which members of the United Nations Security Council have veto
power ?
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11.

12.

13.

14.

15.
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‘“areray @ fedifem e (fewe fog sfecht) sfides aram s fopmes g qen

wa feam o 2 é+é=1

When and by whom was the speech titled as “Tryst with Destiny’
delivered ?

o 1957 H, i # T TsHifere g TR ST 2 GEAEs i ST ? i+é:1

2

Which political party formed the government in Kerala in March, 1957 ?
Who became the Chief Minister ?

I8 St ST BT T3 <hel 3T 1 fopam T o 2 é+é=1

When and why was Shah Commission appointed ?

TH AL AT 4 NHUHATE o 9T § hi9-91 Sgifdes deh fear o 2 1

Which theoretical argument did Ram Manohar Lohia give in defence of
Non-Congressism ?

YR |fag™ & 31eag 370 i fhet T qeu fomivar &1 Ieor@ IR | 1
Mention any one salient feature of Article 370 of the Indian Constitution.
TA-NYTG AT & I I 7 2 1

What is meant by party-based movements ?

TTe-FRue 3fidie (NAM) o fopegl &1 Geomaes Heed eoif & am fafay | 2x1=2

Name any two founder member countries of Non-Aligned Movement (NAM).

“Srieh-edY ok fohgl Q1 INUTHT sl IR FHIRT | 2x1=2
Highlight any two consequences of ‘Shock Therapy’.

foredl g1 forvaeardt areaife a&qet = 3w T | 2x1=2
Mention any two examples of global public goods.

T T o TS H, 12 FH o T o Fan’ fhaeht Tdfteh © 2 2

In the European Flag, what does the symbol of ‘twelve golden stars’
signify ?
‘ArEht g ITH-3TAT AT — 39 9RO | T A g 2 2

What is meant by the concept — ‘Common but differentiated
responsibilities’ ?

3 P.T.O.
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B shifd T Ush GhRIcHe Td Teh AehNIcHeh Y9TT filau | 1+1=2

State one positive and one negative effect of Green Revolution.
AR S |9 1 H-81 G966 TIHHA] € o gl ABAREg ¥ w3fl &1 2 3o
e IR FAT & femm 2 é+é+1:2

Which member of Bharatiya Jana Sangh was the minister in the first
Council of Ministers of Prime Minister Nehru ? When did he resign and
why ?

e gweiar @ o 2 39 W fha-fope & geaner fohu 2 1+é+éz2
What was Shimla Agreement ? Who were its signatories ?
gfera Yo % grr a1 MU fohedl g1 el 1 Seor@ I | 2x1=2

Mention any two issues raised by the Dalit Panthers.

MY TLhR O F1 AT % ? qRd | %%;’Ia TR T ITSHYT TR éll hd
1 1
r) —_ —_ =
IE AT 7 1+ =2

What is meant by Coalition Government ? When did the era of coalition
governments start at the Central level in India ?

Ut forgl wR arefaeRdTsll @ Seoi@ i T a3 % wver foa
oI ol see e | dx1=4

Mention any four realities that changed the world politics after the Cold
War.

= feu MU wET w1 eamyds stemmA Hife qun frafafed g % 3W
IS 4x1=4




) fTumagwa=afrmmaz?

(i) A3 w1 faga w9 fafau |

(i) TA. 5. HI g 7T = off 2

(iv) TSI9& ShiH-BT TSHITdeh h1d hid bl JATH H &1 8 ?

Study the cartoon given below carefully and answer the following questions :

(1) The given cartoon is related to which country ?

(1)  What is the full form of LTTE ?

(iii) What was the main demand of LTTE ?

(iv) Rajapakse is trying to perform which political act ?

7 : FETfeTfad I97 Fa giggiT ahemidal & forg, Jv7 g7 22 & T WE |
Note: The following questions are for the BLIND CANDIDATES only, in
lieu of Question No. 22.

frfafea gt < 3T faRaw - 4x1=4
(i) TAAAZ. (LTTE) = foega &9 fafaw |

(i) TAAAZ. (LTTE) H TF-4 fpd o1 & 3 ?

(i) TA.AEZ. (LTTE) i g3 1i1 1 off 2

(iv) ST @os 8 @ A 8 2

Answer the following questions :

(1) What is the full form of LTTE ?

(i1) LTTE is related to which country ?

(1i1) What was the main demand of the LTTE ?

(iv)  What is meant by ethnic conflict ?
59/1/1 5 P.T.O.




23. “OFh TP TH UGN TAT & |” 9 HF Hl fohral al ITYH qohl g AT
HINTT | 2x2=4

“The UN is an indispensable organisation.” Justify the statement with
any two suitable arguments.

24. WG i FR&IT WHITT o fohrgl TR Tl shi SRS T | 4x1=4

Explain any four components of India’s security strategy.

25. Afvge wrEh guer @ w AN g 2 gHeh e & forw fRedl @ =wn &
gerra e | 2+2=4

What is meant by ‘Global Commons’ ? Suggest any two steps for the
protection of ‘Global Commons’.

26. AYSIHUT T HAT AAY & ? ST o foheal diF ToiTaes IROMHT <hl samean
i | 1+3=4

What is meant by globalisation ? Explain any three political
consequences of globalisation.

27. HETeHT e 7 15 WA, 1947 o fod Taaaar feam & fopeft off w9 & wmr =
&1 o 2 wm hifsw | 4

Why did Mahatma Gandhi not participate in any of the Independence
Day celebrations on 15th August, 1947 ? Explain.

28. TAA WRA shi T i shi e HifT | 4

Explain the nuclear policy of independent India.

29. 253, 1975 ! HNNG SIS o feohral TR TNOMHN hl AT HIT | 4x1=4

Explain any four consequences of emergency declared on 25th June, 1975.

59/1/1 6
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fou T R & Terifaes W aEtE E, s ) s B @), @), © 3k O g
fufea forar T 2 | F9 @ T ISR & MYUR W 3R YA hifvw 3T
IO I gieaedt § 3Th TRl AT HES: TEEUG hH HEI U9 IIER |igd
fofau .

(1)
(ii)
(ii1)

(iv)

4x1=4

I8 Ud 81 § qd yamee .. &g fatfaa go 9 |
S 1996 ¥ 3T 1997 G T8 Y& YL 1 TT |
I8 TST THenT gray Hed 3TN (1977 — 79) 5 37L& 9 o7 |

I8 TSI STal 1952 ¥ 1967 doh A9HA hidhd 6l ThHR o1 & |

7
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In the given political outline map of India, four States have been marked
as@), B), © and D. Identify them with the help of the information given
below and write their correct names in your answer book along with their

respective serial numbers and the alphabets concerned :

(1) The State wherefrom former Prime Minister V.P. Singh was elected.

(ii))  The former Prime Minister from June 1996 to April 1997 belonged
to this State.

(111) The State to which the Chairman of Mandal Commission
(1977 — 79) belonged.

(iv) The State where the National Conference ruled from 1952 to 1967.
59/1/1 8
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Note :

31.

32.
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HETfeTRaT F97 a7 gIZgia ahemiaal & 1o7g, o7 G&371 30 & T W3 |

The following questions are for the BLIND CANDIDATES only, in
lieu of Question No. 30.

frfaRad st & 3 T dx1=4
(i) qd vuEEs L. g e use @ et g g 2

(i) HSA RN (1977 — 79) F1 JEAG A AT ?

(iii) qd TeaHwEt T ua fhm Us9 & "t 9 2

(iv) ~IJaH iR o ot @ 98 S o1 9m fafaw |

Answer the following questions :

(1) The former Prime Minister V.P. Singh was elected from which
State ?

(ii))  Who was the Chairman of the Mandal Commission (1977 — 79) ?
(iii) The former Prime Narasimha Rao belonged to which State ?

(iv) Name the former Prime Minister who remained in office for the
shortest tenure.

3fid g THE BH h UvEN, e-RUS oTEied I WTERRAT 1 HoAThd
HIT | 6

AT

gifaard 99 o faged & foreal ©: wron w1 fogayor $hifse | 6x1=6

Evaluate the relevance of the Non-Aligned Movement after the end of the
Cold War.

OR

Analyse any six causes of the disintegration of the Soviet Union.

I O 1 ANIE g 2 Hh with & TEd ° foRegl @ eyl fl samen

Hifoe | 2+4=6
arra

=\ qon Tg® ST w1, gievlt witEn St it § fhd SR oteH fieR

fuma 2 2 =men Fifs | 3+3=6
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What is meant by hegemony ? Explain any two constraints on American
power.

OR

Explain as to how China and the United States of America are key
players in the South Asian politics.

33. TEOAAT < ITATd, WRA TsHITdeh qNGIT H THIN 1 SR dh Hidd q1el

YYcd AT T H HgRIeh foheal oI ekl ol JodTehd ShITTT | 3x2=6
HAYAT

gEl Jea AT o G SftEifiek foshE dom iy foee % uy W fiu T

- g et 1 e HifT | 3+3=6

Evaluate any three factors that helped the Congress Party to continue to
dominate the Indian political scenario for almost three decades after
independence.

OR

Explain the three main arguments each that ensued in favour of
industrialisation and agricultural development at the time of the Second
Five Year Plan.

34. YNd H 1967 % =Y M TG A Tgct o TfiR 1w wehe 1 wliequr i |

3 fafed & smur W fai=ert & SR w1 favaye Hifsu | 3+3=6
areran

1977 % AT o dG, whg H faueft gali 6 THR ot | 39 JgaE & foheal o

ST 1 fogeryor fifse | 6x1=6

Examine the grave economic crisis prior to the fourth general elections of
1967 in India. Analyse the verdict of the electorate based on this election.
OR

It was for the first time in India that the 1977 elections saw the
opposition coming to power at the Centre. Analyse any six reasons for
this change.

59/1/1 10



35. fafaRaad sraawor =1 ufeu 3R 3ues e foe g & s difv - 3x2=6

WY Ugd o] R, @Y, HRRYE U dEe ST W
dH-3cfied & fgamd ®M FH 90 dfgen @g AMIR W el qegerfiy
Higaen & o9 & @fha I R 8 o1a R <o | rL gt oft | At Tggl *
Tad YA H I8 e foskiid B IE g% foh 3idl W EH a1 AR AR
AfTer HeWTd T HIHAT ©ET Sed @ | 3A13d ¢¥lh o i Higdl 3TeieH
IRER % 37 3N 35 A B ared! A4 G &% gagl W Higd W | 3 qgl
q A % faas gfen TR iR dfiee wmHar % fagra W osnaria
SARHTd U GUT Sl Sl AT 6|
a9
(i)  <ifeR Yewra @ T AU g 2 399 graf-ad fohegl a amTteres HAfaat

% IR 9T |

(i)  <iffeh UGHTE ! THTH HiA o [T HIE g 3T ST |

(i) Afgarstt W fpy I a1 AR % =l 3 gagi 1 Sea@ HIfT |
T STIEN bl GUTH A 1 T8 THIEGRTAT dLIehT hid-97 3§ 2

HYAT

frafaRaa @ i afew 3tk 3us = fo goi & 3@ S 3x2=6
g0 1 (3EH SATGIR eI §) fowame e 8 o ol e wemarn

g & R | SeifEt &% ue o 3 9 yg@ feeed Ierht | uselt g 6

IR TR 4 ae fohan o b et gaifen @ fued & s1g v« feufa

A= g STOh @ IRG T9 H foer % gE W SHEd-HUE A S | $9 g0

&l fora T | e, | 370 < d'd fean e favy gwl ¢ft ate @ ema | &

AR T | SEE SR i gl AU TST hl STE SRRl o hl A1

33t | udt fireprra =g < It B 6 v & et faedt § o @@ dehdT W

A BIAT & 39 A8 1 HEANTA AlhdIAh SR STH]-hYHI | &1 =il |

9 :

(i)  SFHA-EUE o w1 A g 2

(i) 9T 370, T TS i Toh¥ ThR hi TR GHTAA il & ?

(ifi) Tl H faRea ‘Femett gots’ @ arafea gear &1 auiH il |

59/1/1 11 P.T.O.
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Study the passage given below and answer the questions that follow :

Earlier, women’s groups working on issues of domestic violence,
the custom of dowry, sexual abuse at work and public places were active
mainly among urban middle-class women in different parts of the
country. Their work led to a realisation that issues of injustice to women
and of gender inequalities were complicated in nature. During the decade
of the eighties women’s movement focused on issues of sexual violence
against women — within the family and outside. These groups ran a
campaign against the system of dowry and demanded personal and
property laws based on the norms of gender equality.

Questions :

1) What is meant by ‘gender inequality’ ? Give any two examples of
social evils related to this.

(i1)  Suggest any two measures to eradicate gender inequality.

(iii)) Mention any two issues of injustice to women. What is the most
effective way to address these issues ?

OR
Study the passage given below and answer the questions that follow :

Another section, mostly Kashmiris, believe that the autonomy
conferred by Article 370 is not enough. A section of Kashmiris have
expressed at least three major grievances. First, the promise that
Accession would be referred to the people of the State after the situation
created by tribal invasion was normalised, has not been fulfilled. This
has generated the demand for a ‘Plebiscite’. Secondly, there is a feeling
that the special federal status guaranteed by Article 370, has been eroded
in practice. This has led to the demand for restoration of autonomy or
‘Greater State Autonomy’. Thirdly, it is felt that democracy which is
practised in the rest of India has not been similarily institutionalised in
the State of Jammu and Kashmir.

Questions :
1) What is meant by ‘Plebiscite’ ?

(ii))  What type of autonomy does the Article 370 ensure to the State
concerned ?

(iii) State the incident referred to as ‘tribal invasion’ in the given
passage.
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